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The ﬁgures in the margm tndzcate full marks.

o Candldates are requtred to give thetr answers in thezr own :

words as far as practzcable ‘

' , GROUP - A
( Multiple Choice Type Qultiou )
1. Choose the correct altematlves for the followmg

S - 10x1=10
i) - 'Gray code for decimal 7 is _ S
a) 1111 ~'b) 1011
'¢) 0100 - d) o101.
i) Cache memory is implemented usmg , ‘
. a) Dynamic RAM ~ b)". EEPROM '
. ¢ EPROM =+  d) ROM. .
iii) Number of address lines requlred for access of
. 512 bytesRAM xs ( ¢ :
a9 b 6
¢ 10 . d) 8.
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1v)

Which mode of addressmg is used i-n_v? the
mstruct:on MOV A, B ? =

: _a) Register Indxrect Addressmg

. ) Reg:ster Addressmg
o ;,Immedulate Addressmg }

d) " Direct Addressmg

‘thh of the followmg is an advantage of Modular _'
_ Programmmg ?-

‘a) It needs careful documentatlon as 1t may aﬂ'ect. S

b) Special programs are to be developed to

- o Ifa change 1s to be made it.is made in the

the other parts of the program
'v_-produce the desired data for testxng of modules

partxcular module’ .

‘ d) none of these
‘What does the followmg program perform ?
LDA 2501H

" ADD A.'
 ADD A

STA 2502H
HLT |

~ @) Shifts an 8-bit number by 2 bit
b) Shifts a 16-bit number by 2 bit
¢) Adds an 8-bit iumber twice
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| vu) A multxplexer 1s also known as a/ an .
. a) Encoder - b) Data selector _ "
¢) Decoder . d). Register.
vm) The performance of a memery level is frequently
' measured in terms ofa quantxty called ‘

a) bxt ratio ~ '+ 'b) nor ratio’
o c) no ratlo R d) _'hlt ratm. ‘ ,
ix) The .CPU activates the cpivseressaerens . output to

inform the external DMA that the buses are m the _
%ugh-tmpedance state ' e -
"a) bus request "b) bus gran,t” |

c) cycle steahng d) none of these.
X)) e reeens 18 connected to the address lmes of

| "the system bus. =
_a) Instruction regxs‘ter s
b) Program counter
c) - Memory address register
d) V_M'erriery buffer register
. - GROUP B ’
( Short Answer Type Questions ) ,
Answer any three of the following. 3 x5= 15
~ Explain Virtual Memory with the help ofa dxagram ‘
Explain vectored interrupts with a diagram. .
4. Explain direct and mdlrect addressmg with the help of
- diagrams. : N
5. What is the dlfferehce between l-pass and 2-pass :
| assemblers? - : o
. 6. Write an assembly language progra.m to subtract two
o '8~b1t numbers - '
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{ Long Answer ‘l‘ype Questiom )

- : Answer any three of the following. 3x15=45 o
7. ,:Wha’t _are the 16-bit regxsters available ~ in

8085 mlcroprocessor ? Write about them What is
Bootstrap Loader Program' stored in ROM ? What are

| the elements of machme instruction? - 2+3+5+5
8. Write short notcs on any three of the followmg - 3x5"

a) | Addressmg Modes “ -

b)  DMA | |
c). Content Addressable Me.mory (CAM)
d)' Cache Memory '

9 What is the difference between RISC and CISC.

processors. '? Explain the .concept -of sequential
ﬁ.prm:essmg plpehmng and parallel processmg ‘with
: ‘example What . are the elements of a - machine
| mstructmn P What is meant by memory access time ?

4+6+3+2

.10., ' Expleun Temporary, _ Genera} Purpose and Spemal |
IR Purpose reglster orgamsatxon in brief. S+5+35

11. What is parallel processing ? Describe the ‘working

principle of pipelining.. Explain the major charactcrlstlcs :

‘»',»vofanRISC.processor‘ T B 5+5+5
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